HIGH COURT OF JUDICATURE AT BOMBAY, BOMBAY
QUESTION PAPER FOR SCREENING/WRITING TEST
FOR THE POST OF CLERK
DATE OF EXAMINATION : 12.01.2020
TIME : 11.30 A.M. TO 12.30 P.M.

TOTAL MARKS = 90 MARKS

(EACH QUESTION CARRIES ONE MARK)

1. “frefik’’ ar v wEEeTyter Tata frasr.
a) ST b) SR c) g&@ d) v

2. o =g 99 uwaig faaer.
a) ST FHATST AaS o ! T T ST A ?
b) TESUT aHEIE wige B, UUT 9T ST 7Y,
¢) HeSToT JHATS AAS B T AT ST ATEY.
d) FST0T THETE @i 8N UOT a9 STt ATl

3. woe e v e 99 fasT. :
a) g9IR b) gvmiqun C) HIS - d) e

4, HEEIS Y= QRTEY fAgerT.
“HIEAT (3FMOT) UEF SR FWE 3R,
a)aﬁm b) SFTOTST c) oS d) SFToTreit

5. qmmmaﬁm—uga .
a) favo=m b) M= | ) WEETEEAH  d) SgeEarEs TN

6. “rE=’’ AT vreern faweatater gty AT,
a) AH b) arqry ¢) 34" d) 3o

7.' “TTTE YRR gge =Y. MY IrmEs SEn’ A1 e SreiET STt
IVGTEAT AN IS W o By 99 99 35S ?

a) Tg b) =uH o I  d) 7|
B. -“w@“mqrm%aﬁﬁﬂmaﬁvﬁ@éa?
a) TTET b) TeTEE ¢) TERH d) TewEEE

0. THHR T v e D™, o
| a) 3f¥rafg b) aTf¥tafe c) anfaafe d) anfuafe
0. “RHERd” @ = g e,

" a) SEEd b) wegEw c) ©% d) sr=aEE
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11. [Frame question for the _followmg septz?:iunica[ion“,
“Body language is a major means O c -

(a) A major means of communication wha! . ?

(b) What is a major means of commun.lcat_mn?.

(c) What are major means of communication:

(d) How communication is a major means?

12.  What is the noun form for ‘Prescribe’? o .
(a) Priscription  (b) Prescreption (c) Prescription (d) Prescrision

13. Change the following sentence in Active Voice.
“The car is being repaired by him.” .
(a) He was repairing the car. (b) He have been repairing the car.
(¢) He will be repairing the car.  (d) He is repairing the car.

14. Which suffix will you add to the word ‘Honest’ to make it a noun?
(a) ment (b) ly (© vy ~ (d) mess

15. Choose the synonym of the word ‘Foresake’,
(a) forgive (b) abandon (c) shakehand (d) headshake

16. Choose the correct meaning of the phrase ‘to keep on'.
(a) to continue (b) to keep up. (¢) tohold -~ (d) to haveit

17. Choose the one word substitute for the following group of words:-
“Government by the officials”.

(a) Democracy (b) Hypocracy (c) Hypocrisy (d) Bureucracy

18. Find the correctly spelt word.
(a) Colonel (b) Kulnul (c) Calnol (d) Colnel

&

19.. “Fill in the blank with correct option.

“We rise the Sun on every Sunday”. ,
(a) beside (b) up (c) over (d) with
20, A pair of scissors is an.instrument with you cut the pépers.
(a) can (b) whom (c) which (d) that
21. Choose the right preposition.
“It is natural for the human being to wish money”.
(a) for (b) of (¢) by (d) to

22, Select the plural of the word,
“thesis”, )

(a) thesises (b) theses (¢) thises - (d) thesis
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23. Today is Monday. Yesterday Sunday.
(a) will be (b) will (c) was (d) is
24. Which of the following pairs has similar meaning?
(a) red - read (b) seat - sit (c) fair - fare (d) war - battle
25. Change the gender of the word ‘hen’. ' ‘
(a) rooster (b) han (c) doe (d) hon
26. Choose the correct meaning of “rain cats and dogs".
(a) cats and dogs in the rain. (b) rain poured on the cats and dogs.
(c) very heavy rain. (d) very low rain.

27. Find the antonym for ‘slender’.
(a) cylinder (b) stout (c) weak (d) tender

28. Pick out the correct sentence.
(a) 1 forget to post the letter yesterday.
(b) 1am forgetting to post the letter yesterday.
(c) 1 forgot posting this a letter yesterday.
(d) 1 forgot to post this letter yesterday.

29. Choose the correct meaning for the given idiom and phrase -
“Born with a silver spoon in one’s mouth”.
(a) to be born in a rich family
(b) putting silver spoon in mouth
(c) taking the silver spoon
(d) silver spoon given in hand after birth

30. Change the noun ‘credit’ to the adjective. _
(a) crediting (b) credence (c) creditable (d) credited

31. is the Chief Justice of Bombay High Court.
(a) Shri. Prameet Nandanjog (b) Shri. Pramod Nandarajog
(c) Shri. Naresh H. Patil (d) Shri. Pradeep Nandrajog

39, In which State ‘Jim Corbett’ national park is situated?
(a) Urtarakhand (b) Jharkhand
(c) Chhattisgarh (d) Gujarat

33. Who is known as the ‘mother of seed’?

(a) Rah}bai Popere (b) Ranibai Phaphere
(c) Shailabai Dhangat (d) Kesharbai Patil
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

N

Which of the following sports is associated with the name Pele ? \
(a) Basketball (b) Football (c) Throwball (d) Rugby

Which recent Law came into existence for the prevention of sexual offences -

against children?

(a) Indian Penal Code, 1862

(b) Juvenile Justice (Care and Protection) Act, 2015

(c) Protection of Children from Sexual Offences Act, 2012
(d) Code of Criminal Procedure, 1973

Who received Padmashree Award 2019 for Spirituality?
(a) Rajeshwar Acharya (b) Preetam Bhartwan
(c) Rajkumari Devi (d) Bangaru Adigalar

Where is the first floating market place situated in India?
(a) Chennai (b) Delhi (c) Mumbai (d) Kolkata

What is Global Warming?

(a) The gradual cooling of the oceans on the earth.

(b) The gradual heating of the'land and the oceans on the earth.
(c) The gradual cooling of the land on the earth.

(d) The gradual cooling and heating of the atmosphere.

Who was the first Noble Prize Winner in India?

(a) Rabindranath Tagore (b) Frederic Passy

(¢) Mother Teresa (d) C.V.Raman

Which State is known for manufacturing ‘Paithani Sarees'?

(a) Madhya Pradesh (b) Maharashtra

(c) Punjab and Haryana *(d) Chhattisgarh

If3isto 12 then 2 is to ?

(a) 13 (b) 27 () 8 - (d)9
CBA is to EFG as KJI is to ? |

(a) MNO (b) NMO (c) NOP (d) LMN

Radha and Rama are sisters. Sarla and Vimal are also sisters. Sarla’s father is
Rama’s brother. So what is the relation of Vimal with Radha ?
(a) Aunt (b) Sisters (c) Sister-in-laws (d) Niece

Find the odd man out -
(a) Chennai (b) Hyderabad (c) Pune (d) Nizamabad
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45.  Filling the blank with correct option -

JK, MN, PQ, ST, VW,

(a) YZ (b) AB (c) DE (d) GH

46. Select the correct option -
15, 24, 33, 42, -
(a) 51 (b) 62 (c) 75 (d) 83

' 47. Yusuf went Abroad. He is rich. What inference can be drawn from these two

sentences?

(a) Some people who went abroad are not rich.
(b} The people who went abroad become rich.

(c) The people who did not go abroad are not rich.
(d) Some people who went abroad are rich.

48. Find out the incorrect number from the follouﬁng sequence,

4,19, 42,79, 124, 179, 244

(a) 124 . (b) 42 _ (c) 4 (d) 79

49. Inarunning race, 6 runners were infront of Angad, Hanif was at fourth place

behind Angad; Hanif was at seventh place from the last number. So how
many runners were there ?

(a) 14 (b) 18 _ (c) 17 (d) 16

50. Inacode language the word “I,":__F‘{k"A CTICE" is written as “P ARTCCIE"
then how the word “T R ATN S “ will be written in that language.
(a) TARI“NS (b) TANRIS (¢)TARNIS "(d) TAIRNS

51. _Which of the following words can no-tlbe found by the word “EXPECTATION;'
(a) CAT (b) PROVE (c) TAT . (d) EXPECT

52. The time is measured by hours, the length is measured by what ?
(a) Litre (b) Meter (c) Kilogram (d) Width

53. W

Arrange the following in a meaningful sequence:- _
1) Death, 2) Birth, 3) Education, 4) Employment, 5) Marriage '
(@)1,2,3,4,5 (b)5,4,3,2,1 (©3,2,1,4,5 (d)2,3, 4,5,1

54. A person who is present every where -

(a) Omnipotent  (b) Omnipresent (c) Omniscient (d) Optimist
S5.  Train : Platform, Ship : ? ‘

(a) Sea (b) Ocean (c) Fish

(d) Harbour

http://www.adda247.com/mr | Adda247'FR13°prp | https://t.me/Adda247Marathi
Scanned by CamScanner


Dell
Line

https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

W6

?
he ice gets melted in room temperature

air in the room is cold.

initi i ter.
itial form of ice was wa _
i han the ice.

56, Why't
(a) Because the

(b) Because the :
(c) Because the air in the room is warmert

(d) None of the above.

“g14" i word
57. In the code language “DAD" is written as 414". How can your write the

“FAD” ?
(a) 614 (b) 414 {c) 514 (d) 894

58. Choose the number which is different from others in the group.
(a) 125 (b) 35 () 17 (d) 85

59. Find odd man out. -
(a) Chiken (b) Mutton (c) Fish (d) Mushrum

60. River: Flood, Sea : ?
(a) Waves (b) Flow" (c) High tide (d) Low tide

61. Janhavi is younger than her mother by 28 years. The sum of the ages of
mother and daughter is 62 years. Then what is the age of Janhavi?

~, I

(@) 17 (b) 19 (c) 15 (d) 16
62. The square root of 625 - |
(a) 55 (b) 25 (c) 15 d) 75
63.  Suresh purchased.5 cars for Rs.1,51,515/-, then what is the price of one car?
(a) 333 (b) 3303 - (c) 30303 {d) 50505 : 4
™
64. 12/45-1 = X/135, SoX = ___ | ; ,.“‘L/—:%‘
() 18 (b) 48 (c) 36 - (d)27 o 7
65.-45.05 + 1000 Nét’q
(a) 450.5 (b) 4.505 (c) 0.4505 (d) 0.04505 c:;,/h '
66. Find out the number 29 in Roman Numbers. : : . l\.-""zf
(a) XXx1 (b) XIXX (c) XXIX (d) XX
67. The monthly expenses of 45 children in a hostel is Rs.9,090/-. Then what are
the montly expenses of one child? AP
(a) 22 (b) 2020 (c) 202 (d) 222 A 75“
o
68. 35-25+5+6X%4 = &;"H'V..
(a) 26 M6 " (©s4 =~ (@64 LR
- fd‘ i oj'-')
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69. X+25=37; X=
(a) 62 (b) 12

(c) 925 d) 15
70.  One vehicle cuts the distance of 120 meters in 9 seconds, then what is the .
speed of the vehicle per hour? A . .
() 72 kms. (b) 24 kms. (c) 60 kms.  (d) 48 kms. "{?‘ % ch
. | A
71, 15%o0of1200=__ : ' &
(a) 160 (b) 180 (c) 240 (d) 150 A oo
72. 4500 centimeters = kilometers **L'/'P ‘/‘
(a) 0.45 (b) 4.5 (c) 0.0045 (d) 0.045 S
2
73. How many 2 rupees coins will one get by giving 36 coins of 50 paise?
(a) 90 (b) 9 (c) 900 (d) 36
74. 1f in the month of May; the date on first Friday is 4, then what will the date on
the last Sunday of the month?
(a) 25 (b) 30 (c) 27 (d) 28
75. Baby sitter charges Rs.500/- per day for each child. How much is the charge (o0
i ? _ ¥
for.10 kids for 12 days® s | %
(a) Rs. 6,000/- (b) Rs. 600/-  (c) Rs. 60,000/- (d) Rs. 6,00,000/- 6'30\0
. o A
76. The addition of 2 odd numbers is - _ 4
(a) odd number (b) even number (c) odd and even (d) even and odd 6=
77. How many chapatis can be prepared in 30 minutes, if one chapati is prepared ”-a;i\
in 12 seconds? ‘?,v'"’;
(a)250 (b)150° (©125 - (d) 81 , e
78. In a village out of 5,209 voters, 1,405 male voters and 1, 300 female voters did
voting, how many voters did not cast vote? ‘;q},':,
(a) 2504 (b) 2705 (c)2904  (d) 3504 NN
. _ ‘bﬂo
79. 1f 7 is written 7 times and added, then what will be the sum? R 10
(a) 49 (b) 56 (c) 89 (d) 99 (}5"%
«
80. 9 8 7 f 4 o
@+ + = x O+ -, =x ©@=+Hx - @ x=-+= W
. . AX
81. What s the full form of TB? - , N
(a) Tetrabyte (b) Terabyte (c) Tribyte (d) Trybite
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82. The computer virus normally attaches itself to another computer programme

known as :-
(a) backdoor programme (b) target programme
(¢) trojan horse (d) host programme

~83.  Which of the following is output device ?
(a) mouse (b) keyboard (c) printer (d) scanner

84. 1GB= , .
(a) 1024 Bytes  (b) 1024 KB - (c) 1024 Bits » (d) 1024 MB

85. Whatis the lo'ng form of www ?
(a) World Wide Web  (b) Word Web Wide
(c) Web World Wide  (d) Wide Web Wide

86. is the temparary memory ?
(a) ROM (b) RAM (c) Flash Memory (d) Virtual Memory

87. The process of ransferring files from Internet to Computer is called

(a) downloading (b) uploading
(c) file transfer protocol (d) hypertext transfer protocol

88. Which of the following is a read only memory storage device ?
(a) Floppy disk  (b) Hard disk  (c) CD ROM (d) Flash drive -

80. Which of the following connects the computer to a telephone line?
(a) Processor (b) Modem (c) USB Drive (d) Multiplexer

90. What is the full form of IP ?
(a) Internet Programme (b) Interface Programme
(c) Internet Protocol : (d) Interface Protocol

s o

S
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